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1. Study the information below and answer the questions which follow.

Liz is an entrepreneur who is having difficulty deciding what type of

business activity to set up.

(a) From the picture, identify one business activity in each of the

following sectors:

(i) Primary;

________________________________________________________

(ii) Secondary;

________________________________________________________

(iii) Tertiary.

________________________________________________________
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MY FIRST CHOICE

Build houses using machines

Use estate agents to sell 

houses to those who can 

afford them

MY SECOND CHOICE

Use lots of  students to help 

me grow strawberries

Give surplus strawberries 

to charity for those who 

need them

MY THIRD CHOICE

Open a sports shop

Sell sports goods

to those who have

effective demand



1. (continued)

(b) From the picture, identify one example of each of the following

choices.

(i) What to produce?

________________________________________________________

(ii) How to produce it?

________________________________________________________

(iii) Who to produce it for?

________________________________________________________

(c) If Liz decides to open the sports shop, goods will only be sold to

consumers with “effective demand”.

Explain what is meant by the term effective demand.

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

(d) Liz decides on her first choice of business activity.

(i) From the picture, identify the opportunity cost of building

houses.

________________________________________________________

(ii) Explain your answer to (d)(i).

________________________________________________________

________________________________________________________
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Page four[0820/401]

2. Study the picture below and answer the questions which follow.

(a) Brencars plc car factory uses division of labour to manufacture cars.

(i) What evidence is there in the picture that division of labour is

used in the car factory?

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

(ii) Suggest one advantage and one disadvantage of division of

labour to the workforce.

Advantage

________________________________________________________

________________________________________________________

Disadvantage

________________________________________________________

________________________________________________________
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2. (continued)

(b) From the picture, identify one example of each of the following:

a capital good;

_____________________________________________________________

a consumer good.

_____________________________________________________________

(c) Brencars plc buys TomKat Car Retailers.

(i) Identify this type of integration.

Tick the correct box.

(ii) Explain your answer to (c)(i).

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

(d) (i) From the picture, identify whether Brencars plc is a capital

intensive or a labour intensive business activity.

Tick the correct box.

(ii) Explain your answer to (d)(i).

________________________________________________________

________________________________________________________
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3. Study the graph below and answer the questions which follow.

Hold-A-Phone Ltd

Costs and Revenue for New Mobile Phone

(a) At an output level of 100, identify:

(i) Total Cost; £ ______________________

(ii) Total Revenue; £ ______________________

(iii) if Hold-A-Phone Ltd makes a profit or a loss. 

Tick the correct box.

(iv) Explain your answer to (a)(iii).

________________________________________________________

________________________________________________________
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3. (continued)

(b) From the graph, calculate the selling price of one Hold-A-Phone

mobile phone.

Answer: £ ___________________

Show your working here.

(c) (i) From the graph, identify the value of fixed costs for

Hold-A-Phone Ltd.

Answer: £ __________________

(ii) Give one example of a possible fixed cost for Hold-A-Phone

Ltd.

________________________________________________________

________________________________________________________

(d) The owners of Hold-A-Phone Ltd would like to reduce their costs of

production.

(i) Suggest one action that the owners of Hold-A-Phone Ltd could

take to reduce their costs.

________________________________________________________

________________________________________________________

(ii) Explain how the action you chose in (d)(i) would reduce costs.

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________
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4. Study the picture below and answer the questions which follow.

(a) (i) Which type of resource is Pranav Wali for Smithtown Thistle?

Tick the correct box.

(ii) How much will Pranav Wali earn in wages each year?

Answer:  £ ___________________

(iii) How much will Pranav Wali earn in total each year?

Answer:  £ ___________________

(iv) Calculate Pranav’s “take home pay” each year.

Answer:  £ ___________________

Show your working here.
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A natural resource

A human resource

A man-made resource

Pranav Wali has also signed a

sponsorship deal with Hold-A-

Phone Ltd for £1 million a year.  He

will pay income tax of £960,000

each year.  He will pay National

Insurance of £35,000 each year.



4. (continued)

(b) (i) Suggest one reason why Smithtown Thistle are willing to pay

Pranav Wali £2 million a year.

________________________________________________________

________________________________________________________

(ii) Suggest one reason why Hold-A-Phone Ltd are willing to give

Pranav Wali a £1 million a year sponsorship deal.

________________________________________________________

________________________________________________________

(c) Suggest 3 rewards, other than his basic wage, which Smithtown

Thistle might have offered Pranav to encourage him to sign the new

deal.

1 ___________________________________________________________

___________________________________________________________

2 ___________________________________________________________

___________________________________________________________

3 ___________________________________________________________

___________________________________________________________
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5. Study the picture below and answer the questions which follow.

(a) Identify one example of the following:

(i) an unused natural resource;

________________________________________________________

(ii) an unused man-made resource.

________________________________________________________

(b) In 2009, pump attendants are no longer required to work at Let’s Go

Petrol.

(i) Which type of unemployment is this an example of?

Tick the correct box.
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5. (b) (continued)

(ii) State 2 disadvantages of unemployment.

1 _______________________________________________________

_______________________________________________________

2 _______________________________________________________

_______________________________________________________

(c) (i) Suggest 2 actions the unemployed pump attendants might take

to improve their chances of getting a job.

1 _______________________________________________________

_______________________________________________________

2 _______________________________________________________

_______________________________________________________

(ii) Choose one of the actions in (c)(i) and explain how it would

work.

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

(d) (i) Identify evidence of inflation in the picture.

________________________________________________________

(ii) Explain the effect inflation might have on sales of Let’s Go

Petrol.

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________
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6. Study the picture below and answer the questions which follow.

(a) If the exchange rate is £1 = $2.00, how much will a flight to

New York cost in £ sterling, today?

Answer: £ __________________

Show your working here.

(b) (i) What effect might the expected rise in flight prices have on the

demand for holidays to the USA?

Tick the correct box.

(ii) Explain your answer to (b)(i).

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________
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6. (continued)

(c) (i) Suggest 2 actions holiday companies might take to increase

demand for holidays to the USA.

1 ______________________________________________________

______________________________________________________

2 ______________________________________________________

______________________________________________________

(ii) Select one of your answers from (c)(i) and explain how it would

work.

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

(d) (i) UK citizens demand fewer holidays to the USA.

What might happen to the demand for workers in the tourist

industry in the USA?

Tick the correct box.

(ii) Explain your answer to (d)(i).

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________
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7. Study the chart below and answer the questions which follow.

(a) (i) Which is the largest item of Government spending?

________________________________________________________

(ii) Give one example of spending under this heading.

________________________________________________________

(b) Calculate how much the Government of Strachland spent on Health

and Education in 2008.

Answer: £ __________________

Show your working here.
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(Total spending £500 billion)

Industry and Other

Expenditure

Social Protection

Transport

Health and

Education

Defence and Law

and Order

25%

22%

30% 7%

16%



7. (continued)

(c) Suggest one item of capital expenditure and one item of current

expenditure in each of the following areas of Government spending.

(d) State 2 ways in which the Government raises money to pay for its

expenditure.

1 ____________________________________________________________

____________________________________________________________

2 ____________________________________________________________

____________________________________________________________
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